Quelle est la moitié de ……………… ?
La moitié  de …… est ……… car …………. = ……… + ……………


Quelle est la moitié de ……………… ?

La moitié  de …… est ……… car …………. = ……… + ……………


Quelle est la moitié de ……………… ?

La moitié  de …… est ……… car …………. = ……… + ……………


Quelle est la moitié de ……………… ?

La moitié  de …… est ……… car …………. = ……… + ……………


Quelle est la moitié de ……………… ?

La moitié  de …… est ……… car …………. = ……… + ……………


Quelle est la moitié de ……………… ?

La moitié  de …… est ……… car …………. = ……… + ……………

